[bookmark: _GoBack][image: ]
image1.png
Monday 11.05.2020

3610 - 340
65100 - 6500
53+10-53
87x10 870
785 + 100 - 7.85
6610 = 640
39100 - 3900
263+10-283

Fillin the missing numbers:
67x10= 670
640 + 100 = 6.4

6541065
4241042

17x 100 = 1700
453 10 = 4530
34100 = 3400
2+10-24

124+ 100 = 124
736X 10 = 7360

68+10=68
73100 = 7300

Fillin the space with either x or + so that the calculation s correct:

542410 = 542
4734100473

True (T) or False (F):
67x100 =670 [F]
568+ 100 = 0.568 [F]

46 X 10 = 460
37x10 =370

809 + 10« 80.9 (3]
66x10 = 640 [




